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( A )1. Calculate the exact value of (379+379)x500?
(A) 379000 (B) 397000 (C) 558000 (D) 548000
BEMT + 379X 2Xx500=379%1000=379000

( B )2. Jeff has 16 magazines(¥5ii), and each of them has 136 pages. He
reads 34 pages every morning and every evening. How many days
does he finish reading all the magazines?

(A) 64 (B) 32 (C) 20 (D) 18

16x 136 2

BEMT © 16x136+(34+34) = 28 =32

( C )3. Thereis cuboid(FRIED). Its length(fR) increases(3Z0) 5 times and
the height(®) increases 6 times, but the width does not change. How
many times does it increase?

(A) 150 times (B) 11times (C)30times (D) 180 times

BRHT : 5x1x6=30 3

( A )4 [BEEREEBM 500 ATHEIRT @ SRk 60 A » BETH 8000 JT * =3B
SEHBE T NE - FRISAZDEZDIT
(A) 144 (B)152 (C)158 (D)165 JT

BEAT : 500+-60=8---20 » 8+1=9 &j > 8000x9+500=144 TG,

( C )5. 1832 #%Z=F0 48 @B D B e— L/ )\BR  BEE D5 - RS
AD BB ZIRIEEKIR 3 R 8 SBRANIPRBZDA T
(A)2 (B)4 (C)8 (D)16 A
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BRAT + (32,48)=16" 16 IR HE : 124816 EHD 48+-8=6 1@ °
6 TR 3508 2@ * 3E(C)

( A )6 1SERE12% nzzg%’a*aaﬁttg%@nzgg’%ﬁcﬁwﬁwﬁuzz

weErEe o (A) 698 (B) %%ﬁ C)8E (D) %%ﬁ

7 2 7 4 3 1.
= -C=2 » 12+2=6
BEAT 6736 6 6 25 32

( D )7. 9888+100x200=9888x(EB+) BIE ~ ZDRIEZD <
(A) B8=100° £=200 (B) EF=200° &=200

(C) BB=100"' £=100 (D) EBB=200"' £=100
BZHT + 9888+100x200=9888x(200+100) * .".EB=200 * £,=100

( A )8 TIREPE R ZECBREFEMIEDTMR
R BIEGF ERREERASE A —EBiREEER -
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( B )9 HLEEMEZFNENE  KRECEEEZD 1{
(A)120 (B)140 (C)150 (D) 160
BEAT ¢ (T+12)x10+2x2—(4+6) X5+2x2=190—50=140

( A )10. H—REEBFEHB=X  FIBINEFENBIDE <
(A)45 (B)60 (C)90 (D)120 B
BEHT © 360+2=180 * 180+2=90 » 90+2=45 &
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) 11. BBHREB—EEARN (W) ERELERE
BEEIVIIHRD
(A) 4608 (B) 3072 (C)3564 (D) 3840
8x8x5x12=3840 I1J3/A7D

) 12. IRSHSIZEEHEIT Sith 28.8 B - B—ZoRIEH)ISIZERIFESR 8000
WEHEAR » ESEBHILUS AR <
(A)30 (B)34 (C)36 (D)38 28

28.8 /AtB=288000 /53R » 288000+8000=36 22

)13. TREERITIEINETE - SBRITITIBE - SSHZEF ' FRIER
BUHTI0N » SBOILIBF] 9537 E—ESERWBIRIT <

60 2 SIEH EKFE JARE LS PATBAG S
EE (7o) 18000 26500 12400 18000
7 0 I 64T ¥J 8537 25% off 15% off
(A)25657C  (B)145357%  (C) 102607T (D) 6480 JT
18000%0.6x0.95=10260 TG

) 14. H—7KFEE 20cm ~ B 10 cm ~ & 10 cm » T
IB7EGR 6cm » LI RIDSEEERE 6 cm®y L = lf""’
6cm
BERRAKD - BSTLRASDHE » T =

T
P NN ZOCm
U =F )

(A)128  (B)130 (C)131 (D) 133 £
| TEE =20x10x(10—6)=800 cm?® » 800+-6=133 §&

) 15. NRETEEEERU 4 85 > NOINERRSER I » BEHERE 24.42
BEERREEEREEDD <
(A)7.105 (B)2.105 (C)5.105 (D) 10.105

H & =24.42—-4=20.42 » 20.42+-4=5.105
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) 16. fIERFHREPIREZEME B (RERERE 10 JTiRks) S5 5% 6 @
—&0 8{E—2 » 3B 20 [E—2&EH T 5 EIEHS - BI I —EEZE
AN OB E FH)EEE ©
(A) 2850 (B) 3650 (C) 6050 (D) 7250

(68> 20) =120 fIEREEEHTIEER(120xn+5)E

S FB)EZERE(120XNn+5)x10=1200n+50 JT

(A) 2850=1200x2+450 * tR(A)OJEE

)17. ERNEKMERES 18 A » TA 144 A » LIEFWABR @ SROBE 1
A TA 4 NEE) » EDEBRKRLAREIRE) 5 ATEXE—EEE) ©
(A)12 (B)24 (C)36 (D)48 X

144+4=36 > 18+1=18 » 36 A0 18 B/ )\ ME&=36 * .".3E(C)

) 18. 2 TR 3 THIEH 101.5 7T 3 THERA 2 THIE 103 7T @ 38R
MBS E—THEZDIT
(A)40  (B)40.2 (C)40.5 (D)40.9 7T

101.54103=204.5 * 204.5+5=40.9 JG

) 19. B—RBEIKEM 32 MEOBENFLHRERMAN * BEAIER
2 BERIETGER - BEREEE (WEE) r AIBKEH
RHEZD? (A)22 (B)20 (C)18 (D) 16

RELZ IR BN nk

B IRERE 5 REAEM 0 BRI 3 R B AIAEMD

Sm:in=3:5>" .'.n=32><§=20 - {(=)

O

) 20, IDSIRT —HK » BS 2 o REH U AT BRERT, » HHS
BKEBEZDAF? (A)8 (B)10 ()12 (D)13 AAH
- —E—Z: ’ lz N\
14+(1 . 5) 40 40><4 10 AFt
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( B )21 {RENEBR > BEBFE 28 IIERARE <
(A)%“l% (B) £23 (C)%s% (D) B 435
BRAT 5 2% BUSHBRIER » FILURES 2

( C )22 B—ERFRE  {OX - INERIS SR  [IXE—BFEZ 457
PN RFSEEE > 8 20 WBFFISAEE—R » BREINE—BFTEE
e (A)25 (B) 30 (C) 36 (D) 40

BRAT : C 3
45—-20=25
Bl K x Bl K20%D X : 20=20 : 25 x=16
B sz20 fo] 322 5%
..20+16=36
18358

( B )23 W 200 UBEREEN=—(EREE (—A—F  BYRENRE) >
BN ERRBRBARIEAL  BBAEDIE—R -
%u%ﬁ:'ﬂ e rHRHEF 35 @ MEMERSIREBEE <

(A) 62 (B) 63 (C) 64 (D) 65
i pESmExE ISl
> X+2+x+1+x+34+2+1<200 BR| 1 2 3| 4|5 ]| 6
> xsessg ' X B A=63 E | x+2 | x+1 | x | 3| 2 |1
2

B : (200-3—-2-1-1-2)+3= 63§ BR%63E

(A )24 T REFRREAPEalBAZIR 18T B aBAEDR 28T
E aBAZEDRIEIT - B aBAZDIBnEIT  RABBEN
 RHEBEIBRZDETT ©
(A) a;taytagt - +a, (B) ay+2a,+3ag+ -+« -+ +na,
(C) a;xazxagX -+« Xan (D) (142434 ----- +n)xa,
BEAT ¢ 1X(ay—ag)+2X(ay—as)+3(az—as)+4(as—as)+ - - +n(a, _1—ay)
=a;—ay+2a,—2az+3az—3as+4a,—4as+ - -+ +na, _1—na,
=a;+a,+agtas+ - +a,
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( B )25. A~B-C DUAFOXIIEE » INBERW TR o
AEIBE 700 C1E6090 KD 2ED - (BH—EE107)

aran Paray /5;%— Paran Paray /5;%— Paran Paran Paran Paran /]_J\
11213415 /6/7/|8) 9104
O o = O = O = O = O = O = A = I =
AlOIX|O I XIO|O|X|X|X|O]|T70
Bl OO I X | X | X|O]O|O]|X|X |70
C I X | X[ X]O|]O | X|O|X]O|X]|6e60
D O X | X|IO|]O| X | X]O|X|X]|?
(A) 50 (B) 60 7 (C) 70 D (D) 80

i ABABBABH 78 2 A\GETEY 148 - EMANBERB 4 @18E » H
8500 6 BAE - 2E (BEARE) B 6 BDVARE 6 BIER  BILFIS (B
£18[8)) 84 EPH 8 BHIERR  BI=SRIER -

SUBAREERRE LR (O)  F48 (X)) E6mE (O) LB () -
£ C NBXRD LIITBAESHE S  HHES DA 60 JRNEMEMEETH S -
R EAER > DEHKHEE 12359108 HEHMR60-

||| B B B B B |FB|=HE 2
1/ 2|3| 4|5 |6/ 78] 9]10 .
T = = O = O = O = = O = A = R =
A O | X|O|I X|IO]O | X|IX|X]O]|T170
B | OO | X | X | X]|]O|O]O|X|X|170
C | X[ X[ X]|]OlO|X|]O|X|O]X]|es0
D O X | X|O]O|X|X]O|X|X| ? =607
FBI O I X | X | X]TO|]O]0O|X|X|X
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_ -5tEE (& 257)
1. HABRIE -
CINE 1 4 2 5 4 7

2 3 3 4 5 6

[B2] : 1x2x3—4=2 1 2x3x4-5=19 » 4x5x6—7=113-- --- &
1) HETI? 22D -

(12 1 BARAS 10 0 1B 2 B AE#ES 15 1)
7 2 5 10 9 2

2 4 8 2 4 10
(2) b LB SEBIEE -
(BD2%E+ - x - EBEERISEESE > 10)
BT+ (1) BEMRE  Tx2-4x2=6 5x8—2x10=20 * 9x4—10x2=16

BER1. (T-1)x2—-2-4=6 SR 2. T7+2-4+42-1=6
(5—1)x8—10—2=20 5+10—2+8—1=20
(9—1)x4—2-10=20 9+2-10+4—1=4

@ |5 4 7 5 10 7
23 43 ?
3 2 4 3 2 3

OX3+4x2=23 » 1x4+5x3=43 » 10x2+7x3=41
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2. SR TR TBE—IIEE6:00 2X7:30R9
FLE - 1Bt E A fREEMEE - 8l
1) BREERRESD ©
(2) 11 : 40 RIGRRFRDIEFLITLA LS - ALERITE <
BEMT: (1)7:30-6:00=1:30=90%
9:30-7:30=2:00=1204 (90 * 120) =30
(2)11 : 30 +30=12 : 00
% 12:00-11:40=204
AA(12 : 00 —6 : 00)=-30+1=13 Ji&
T:(1)307:(2F 200 AE13E

30 B YET
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